
 Installation Instructions 
Overland Utility Rack Part# RB01B

Components 
Description Qty 
Side Racks 4 

Cross Member - Front 1 
Light mounting bracket - Rear 1 

Top Racks 2 
Base  anchors 4 

Top angle brackets 4 
Base Plates 2 

LED Cube Lights 2 

Mounting Hardware 

M10 x 35 Hex Head Bolts 12 
M10 Spring Washers 12 

M10 Flat Washera 12 
Bed Rail Clamps 6 
M10 Hex Nuts 72 

M10x30  Hex Head Round Screws 72 

https://www.carid.com/black-horse/


Base Anchors



M10 x 35 Hex Head Bolts X 2 
M10 Spring Washers x 2        
M10 Flat Washer x 2        

(3 sets each side) 

Bed Rail Clamps 
(3 each side) 

M10 x 30 Socket Head Screws  
M10 Spring Washers        
M10 Flat Washers  

M10 x 30 Socket Head Screw  
M10 Spring Washer        
M10 Flat Washer  

M10 x 30 Socket Head Screws  
M10 Spring Washers        
M10 Flat Washers  



Installation Instructions 

1. Do not tighten down any of the hardware until the installation is complete, then starting at the bottom tighten everything down.
2. Mount the 2 Bed Rail Plates to the bed rail using the six clamps provided, locate the clamps as close as possible to the front back and center do not 

tighten down as they may need adjusting backwards or forwards.
3. Install the front components to ascertain optimum distance from the cab ,and adjust the width choosing the Angle Bracket holes for a snug fit
4. Install the two base anchors, then the two lower Side Racks ,using the ‘T’ Slot mounting system
5. Install the remaining two rear Angle Brackets ,then the two Side Brackets
6. Attach the two Top Racks into the front ‘T” Slots ,and then before mounting the Rear Light Bar  attach the Top Rack rear’T’ slots into the light bar.
7. Attach the Light Bar to the Rear Angle Brackets
8. Check the installation ,make sure the  bars are parallel to their counterparts , the bed rail plates are parallel to the bed rails and make any final 

adjustments
9. Install the LED Cube Lights, wiring harness and switch per the instructions with the light.

Learn more about truck bed accessories we have.

https://www.carid.com/bed-accessories.html



